Multiply and Divide by Negative Powers of Ten (F)

Find each product or quotient.

46 - 0.1 = 55+0.1=
86 +0.01 = 97 +-0.01 =
90 - 0.01 = 15+0.1=
35x0.01= 7 +0.001 =
62 x 0.001 = 61 x 0.001 =
12 +-0.001 = 10 X 0.001 =
6 X 0.001 = 47 x 0.001 =
99 - 0.01 = 10 X 0.01 =
93 x0.01 = 25+0.1=
11 x0.01 = 16 X 0.1 =
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iltiply and Divide by Negative Powers of Ten (F) Answe

Find each product or quotient.

46 - 0.1 =460 55+ 0.1 =550

86 +0.01 =8,600 97 +-0.01=9,700
90 = 0.01=9,000 15+0.1=150
35x0.01 =0.35 7 +0.001 =7,000
62 x 0.001 = 0.062 61 x 0.001 =0.061
12 +0.001=12,000 10 x 0.001 =0.01
6 X 0.001 = 0.006 47 x 0.001 = 0.047
99 +-0.01=9,900 10 x 0.01=0.1

93 x0.01=0.93 25 +0.1=250

11 x0.01 =0.11 16 x0.1=1.6
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